el
_—

OO

000
000000
©00000000

©:10 O:1

7

v | @@0000000

at

ot

(:

2474

cCt "
H -
| =
JE

>
>

‘ (124+27+21+15+45) <5

24()




2. The 2L ol w9 7} 58 A7 45 2Akste] Lehl AU
Tzl 7477} AV e B obg AL o] AT 4o A5

TN
9 71 4
7} EEOO
L} [ 1 [m]
"o | mmooo
"o | mmmmO
o} | mEEEO0
w507, ol0 7+
¢ 7

> = 1007+

AT 7 A B FL 0, 2V e 52 7} olnz
o

220 — 120 = 100(7H+) YUt




e | ANT (e | AN
P | 6800 | o | 46065
T | 46000 | & | eee
(

BE WY 7} upgo] aa PAbgS 5,

7} (2200kg), 1}(2300kg), TF (4100kg), =t (3000kg) YU Tt
Bt = A= 0] A+ A= e
(22004-2300+41004-3000)+ 4=11600+ 4=2900kg




e 1YIAE SUE A 42 ekl 29Uk A4 w97
Zol W@e arovteetn guth o8 F @ Fuo HA 42
TP TY TN LG vk AT ALY

Sl 2] 4=

@ | OCOOOODooo
O | OOOOOOoo
G)

@ | OOOO ooooo

O100vH]  olovtky

O OOOODoooo @ O00OOOooo
® 0OOOODDND @)00noo0000
® OOOoooooo

~&B

(540 4 620 +[ |+ 450) + 4 = 470
1610 4 J=470x 4

1610 + [ |= 1880

[ J=270(=te1)




= Uehd AUt HXE 715 wol
et wo} 744 A7 72 e o] 579 4:0] 245 A 2.

A7 E ) & ¢u|um]
FeE LS gulu]
ZHJEBL | gooOoOO e e
RT3 e OO0 e eeee
e e OO0 e ee
Agde Y k00
AAEE | kOOeeee
A= * Kk o oo

AT LK

% 105t vt2] o 19k vt2] ¢ 13 ulg]

> g e

> =g 2270000+

L o A7 % 23000001
£ T AFE 30000+
2} 230000 — 3000 = 227000 1}




TP TE aGold] WYY B Hh AT
u o} i 4

T}, S ER Wt AYateFo] 2400t o] 2
nhe] A4 AAIES 9 (9l7] FolA e
ey A ATEF uh-S A3 AreF

7} | mEAAAAAAA | T EEAA
1} | mEEAAAAA | U EEAAAAAA
t} [mAAAAAAAAA] B \

m:1000t, A : 100t

B _t

[ 2
> = 1500 ¢

~&B

7} vkS : 2700t, U AR 1 3500t

ok HkS : 1900, 2 PR 2200t

ahHhS 2600 ¢

ol oh-2o] Az e [t ot
(FA)=(B)x(Ih= ) o] ==

2700 + 3500 + 1900 + 2200 + 2600 +[ | = 2400 x 6
12900 4[| = 14400, ] = 1500(t)




